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LESSON PRACTICE

Follow the directions for each graph.

1. Plot the points (1, 4) and (-1, -4).

Y
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| . |
| | | | \ |
2. Make a right triangle and - ~ L
determine the slope. |
B |
: ‘ 1 "
3. Extend the line and estimate < ] > X
the Y-intercept. T
| | |
,, |
4. Describe the line with the - [
slope-intercept form. v

5. Which of the following lines is perpendicular to the line you drew?
A. Y=4X+2
B. Y=-1/4X

C. Y=-4X-2

6. Draw a line that is perpendicular to the original line while passing

through the point (0, 2).

7. Describe the new line with the slope-intercept form.

8. Describe the new line using the standard form of the equation of a line.
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. Plot the points (-3, 1) and (-1, -1).

Make a right triangle and
determine the slope.

Extend the line and estimate
the Y-intercept.

Describe the line with the
slope-intercept form. ¥

Which of the following lines is perpendicular to the line you drew?
A. 2Y=2X-4
B. Y=4X+2

C. Y=-1/2X+2

Draw a line that is perpendicular to the original line, while passing through
the point (2, 4).

Describe the new line with the slope-intercept form.

¥

Describe the new line using the standard form of the equation of a line.
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